rdb0.last touched diff = 24577.5
gini = 0.444
samples = 100.0%
value = [0.333, 0.667]
class = OK

Fals cl.glue = 8.5

gini = 0.471
samples = 48.0%
value = [0.621, 0.379]
class = BAD

rdbl.last touched diff = 73178.5
gini = 0.499
samples = 20.0%
value = [0.476, 0.524]

class = OK
rdb0.dump _no = 2.5 cl.size = 9.5 cl.size = 9.5 rdbl.last_touched_diff = 53671.0
gini = 0.495 gini = 0.472 gini = 0.475 gini = 0.475
samples = 5.6% samples = 11.1% samples = 9.0% samples = 8.4%
value = [0.45, 0.55] value = [0.383, 0.617] value = [0.611, 0.389] value = [0.611, 0.389]
class = OK class = OK class = BAD class = BAD
/ ! ' \ / \
S rdbl.act_ranking top 10 < 2.5 . rdb0.last_touched_diff = 166554.5 T rdb0.last_touched_diff = 153835.0
sa?:\nlle_s(£437§°/ gini = 0.498 sa?rgmle_so='4£?91% gini = 0.422 sa%ryle_s&?%% gini = 0.416
npes = 3.27% samples = 5.1% P ' samples = 4.8% | : samples = 5.4%
value = [0.621, 0.379] value = [0.52, 0.48] value = [0.469, 0.531]
chs '_ BAD' value = [0.466, 0.534] TR - BAD' value = [0.697, 0.303] cIass; i O’K ' value = [0.705, 0.295]
_ class = OK — class = BAD — class = BAD

gini = 0.498
samples = 1.1%
value = [0.466, 0.534]
class = OK

gini = 0.485
samples = 1.6%
value = [0.412, 0.588]
class = OK

gini = 0.413

gini = 0.456 gini = 0.487 gini = 0.498 gini = 0.463 gini = 0.459
samples = 4.3% samples = 2.8% samples = 2.3% samples = 2.3% samples = 2.8%
value = [0.351, 0.649] value = [0.419, 0.581] value = [0.528, 0.472] value = [0.636, 0.364] value = [0.642, 0.358]
class = OK class = OK class = BAD class = BAD class = BAD
samples = 2.1%

value = [0.708, 0.292]
class = BAD

gini = 0.5
samples = 0.0%
value = [0.496, 0.504]

class = OK




